Ne ApTHUKYI HamMeHOBaHME Kon
1 Tarika M8 6
2 |KC55-10 llapHUP 1
3 Tarika M8 1
4 |KC26-04A Tdara 1
5 Tatika M8 5
6 llarba 8x22x2 4
7 |KC26-05A [InmacTuHAa 2
8 BonT M8x55 4
9 BonT M6x16 4
~ | 10 |KC30A-04A KoxyxX peMHS 1
11 |KC30A-07 OrpaHMuUMTEJIb PEMHI 1
12 BonT M8x20 2
13 |KC42A-03 IDedbiexTop B cbope 1
14 |KC55-24 Jlonarka 1
15 |KC55-15 MariBa 1
16 |KC26-11 ApanTep 1
S 17 |KC30-14 llecTepHs uyepBAYHAaSA 1
18 |KC26-12 Ban 1
19 |KC26-15 Apganrep 1
= 20 |9071-01-20 MruoT 3x18 2
21 |KC26-13 Konbuo znedsiexTopa 1
o 22 |KC26-10 KpoHWTENH 1
23 Mlarba 6 6
24 BuHT M6x16 6
5 25 |KC55-23 duxcaTop mediexTopa 3
;_‘s':‘:y 1__. 26 |41XP900 Pemens 4LXP900 2
;_’-:3 j 27 |KC30A-08 [poxyamka 2
Monmerib
CHeroybopumk 6eHBMHOBHIM ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
1 Buur ST3.5x16F 2
2 |KC30-03A-01R Pyuka mnpaeas 1
3 |KC30-03-02B [laHesb ynpaBJIEeHUSA 1
4 Tarika M8 8
5 Mlarba 8x22x2 2
6 Bosnr M8x40 4
7 |KC30-03-03A KpoHWTEVH NPYXMHEL 2
8 |KCM24-03C-1 Tpocuk 2
9 Bosr M8x35 2
10 MnnmuaT 1.5%25 4
11 |KC30-03-09 Pouar xona 1
12 Tarika M10 2
13 |KC30-03-2 (M4) PyKOSATKa pPes3MHOBad 2
14 |KC30-03-11GGP Pruar ynpapJlIeHUA 1
15 |[KC55-03-15 llariba pesmHOBaA 2
16 |KC55-03-17 pyxnHa 2
17 |KC30-03-12A Peluar npasBblt 1
18 llamba 8 2
19 BonT M8x150 1
20 |KC55-03-12 Cromnop 1
21 |KC55-03-23 3axmm 2
22 |KC55-03-25A ToJkaTeJsb 1
23 |KC55-03-13A ToJyikaTeJlb 1
24 |KC55-03-11 IpyxnHa 1
25 BuuT M8x60 1
26 Baknenka 4x10 4
27 |KC90-04-04A PykodaTka C NOOOTIPEeBOM 2
28 |KC30-03-13A Priuar JIeBHM 1
29 |KC55-03-05-6 Brynka 2
30 |KC30-03-14 [IpoBoOX 1
31 |ASW-07D BrikJiouaTelsib 2
32 |KC30A-05-4 Tpoc kos3mpka IebiexTopa 1
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
33 |KCD26-06-2 [IpyxuHa 2
34 |KC30-03A-01L Pyuka JjieBasa 1
35 |KCA34-03-02 Pyuka 1
36 |KC30-03-22A lIlpuBOom nebdbisiexkTopa 2
37 BuHT M6x10 2
38 llarBa 6 2
39 |KC30-03-24A [laHesb 1
40 Bonr M6x16 2
41 |KC30-03-26 Kprimka 1
42 T'avika M6 2
43 |KC21-03-15 donapr LED 1
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST9071LE

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 3




Ne ApPTHUKYZ HamMeHoBaHMe Kon
1 Boar M10x25

2 |KC90-02-21A Pyuka

3 |KC55-02-25A [ImacTuHa PYy4YKU

4 Bosr M10x45

5 BonT M6x12

6 |KC55-02-40 Ban

7 |KC30A-02-01 Kpriuka

8 Bonr M6x20

9 |KC21-02-2 Brynka

10 |KCM24-02C-19 KpoHWTEMH poJMka
11 |KC21-02C-01 Tpocux

12 |KC40-28 Ponuk

13 T'avika M6

14 Bosr M8x20

15 |KC30A-02-02

IleTanes coeguMHMUTEJIbHAA

16 |KC21-02C-03

OcHOBaHUE IOBMUI'ATENS

Bosar M8x40

18 T'avika M8

19 |G250FDS IBuraTess LONCIN G250FDS
20 |3LXP820 Pemenbr 3LXP820

21 |KC55-02-17A MxuB

22 |KC90-02-16BS-9 MxuB

23 llatiba 8

24 16561-03-18

Bosar M8x30

25 |KC30A-02-04A

Kopnyc TpaHcMmccum

Boar M6x20

27 |KC30-02-12

HakoHeuHukK

28 |KC90-02-07

Brynka njacTmkoBad

RPINEFEINRPRPIRPRPRPRPRPRRPRRPRPRERSDDBPEPIRPIDSPRPIERPIRPIRPRPIEREIREREIDNDIDNDOOININIEIDN

29 |KC55-02-05 Tara
30 Bonr M6x16 13
31 |KC30A-02-05 Kopnyc nommmMnHMUKA 2
32 16200 Hommmnuuk 6200 4
Momesib
CHeroyb6opumk O6eHBMHOBEM ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
33 Komnbuo cronopHoe 25 1
34 |KC21-02-13 [MoOUMIIHUK 1
35 |KC21-02-12 DepxaTelsb IMUCKa OQPUKIL. 1
36 |KC55-02-15-2 Irck QPUKLMOHHEBINM 1
37 |KC30B-02-01 Brynka 15x20x15 2
38 |KC30A-02-07 llecTepHs 1
39 |KC30A-02-09 BaJy mecTuUI'PaHHEBI 1
40 |KC30A-02-11 3Be3mouka Mallasd 1
41 |KC30A-02-12 Brynka 12x15x8 1
42 |KC30A-02-10-2 Basl npoMexyTOUHBIM 1
43 |KC30A-02-10-1 3Bes3pgouka OoJiblias 1
44 1085-32 IDens 085-32 1
45 |16X6.50-8 Moxpremka 16x6.50-8 2
46 |KC30A-02A-1 Inck kxoJecHem 8" 2
47 Boyr M6x16 4
48 |KC90-02-11 Kopnyc NOIWMIHUKA 2
49 T'avika M8 6
50 |6205 HDomumnHuk 6205 2
51 |KC30A-02-14 Brynka 25x34x16 1
52 |KC30B-02-02A llecTepHa 1
53 |KC90-03-07 BaxuM koJjeca 2
54 |KC30B-02-03 Ock koOJIeCHasd 1
55 linoHka 6x4x45 2
56 linoHka 8x7x22 1
57 Mrudpr 8x30 2
58 |KC30A-02-21 Brynka 25x34x6 2
59 BonT M8x30 1
60 |KC55-02-21 PONMK HATSIXUTEJIS MaJl. 1
61 |KC30A-02A-4 KpOHIWTENH pPOJIMKa 1
62 Boyir M8X45 1
63 |KC30A-02A-5 KpoHWTENH pPOJIMKa 1
64 |KC55-01-24 Bryrnka 1
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 5




Ne ApTHUKYI HamMeHOBaHME Koxn
65 |KC55-01-27 Ponux HaTaxXMTeJis OOJIbLION 1
66 |KC55-01-26 llanba 1
67 |KCM24-02C-18 HaxoHeuHUK 1
68 Mlarba 12 1
69 Mlarba 12 1
70 |KC21-02C-09 dukcarTop 1
71 |KC90-02-15 [IpyxMrHa 1
72 |KC30A-02-23 KpoHuwTeMH 1
73 |KC30A-02-24 Brynka 13x20x20 1
74 Bonr M8x16 2
75 T'avika M12 1
76 |KC21-02C-12 [IpyxmnHa 1
77 Bakyenka 4x12 2
78 |KC30A-02-25 [InacTuHa 1
79 |KC21-02C-13 MKkUB 1
80 BonT M6x20 3
81 |KC90-02-12 delta bearing seat 2
82 6002 HomumnHmk 6002 2
83 |KC30A-02-27 DeTanb KpelJeHUs 1
84 Mrudr 1.5X25 1
85 |KC21-02C-17 IpyxnHa 1
86 |KC90-02-31 Ban 1
87 |KC30A-02-26A Kpelllka HMXHASA 1
Mogpernb
CHeroyb6opumk O6eHBMHOBEM ST9071LE

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |KCA28-01-01 Ieka 1

2 |KC26-01-06 KpoHurenH 2

3 |KC55-25 T'avika JIaCcTUKOBAS 4

4 |KC42-01-02 [IOJIO30K I1JIaCTUKOBEIM 2

5 llarBa 8 6

6 Tarika M8 19
7 |KCA34-01-10 [Ios1030K MeTaJlInueCKUM

8 T'avika M8

9 Bosr M8x16

10 BoaT M8x16

11 |KC30-01-02A

[l;macTMHa IOeKu

12 |KC42-01-05A

Kprinka nOoOUMIIHMKAE

13 |SB205

NogmmnHmMk SB205

14 |KC42-01-04A

Kopnyc nomumnHmMka

15 |KCA28-01-02

IlHek NOpPaBHI

16 llamnba 8
17 Barayumka
18 |KCA34-01-03 [IpoBxa

19 |KCA34-01-04

BonT cpe3HOM 8x42

20 |KCA34-01-05 PenyxTop
21 Tanika M6
22 Mlarba 6

23 |KCA34-01-06 KpeibuaTka

Bosar M6x40

Bosar M6x30

26 |KCA34-01-07R

KpoHWTENH NpPaBEM

27 |KCA34-01-07L

KpOHWTENH JIE€BHI

28 |KCA28-01-03

IHek JIeBLIM

29 llatiba 8

30 Bosr M8x20
31 Bosr M8x20
32 Bosr M8x25

BIBRININIRPRIRPIERININDIERI SIS IERINDINDIN IR ININDINDIRERIoINON

CHeroyb6opumk 6GeHBMHOBEI

MomeJsb

ST9071LE

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 7




o |oo
. Y
O|N |~ [N || |||~ |N £ | J%
5 iE ol
0l o |~
5 o|n
INHE
O.m
Sl o |74
B 3]«
CENE
S >3
& S| ® w m ||
o TR 7 © o)
Al 5| S| m 0
O9fn|mc|z|o 9) ) A
Tl . 2|E |l X <
OQlov|o| S|m =
glx| 23 ln nlo|H m
S [ =4 INIEERS)
B . la|lo|x ARG (o)
T|lw| |8 S o|lo|o| R H
H| O jas — | = M
nlie|0|E S| © <
T | > S © Y| © (U] <2
B|X%|E|H|m|O|B|T|0O 4 o
DO HI SNSRI OIS
S|lo|o|o|M|@|O|E|® ()] ol 8l
M A% =8| 8|m|"| " O H%M
ng
X SldlE
Sl ol
B I ol )
> o 0w |2
1% — o o~ o Q Aowa
SRR R A 0 4
B —
AREEIRE S 2 352
< AR < o O a4
oo ™ m ~|Aa
ToRESMEQVEES) Y R hr
vjlum|o @) ()] ol ele
MN[0 N X IR EEE
O |77l
s || v~ |o|o|H o=
Sl o || < |5
S5 [a)




Ne ApTHUKYI HamMeHoBaHMe Kon
1 |KC42A-03-1A HednexTop 1
2 |KC55-03-17 [IpyxuHa 1
3 |KC30A-05-2 [IpyxunHa 1
4 |KC30A-05-4 Tpocuk 1
5
6 |KC30A-05-3 Tara 1
7 nacTrHa 1
8 lleTnsa 1
@)
it 9 Ochb 1
10 Bakyenka 4x10 7
11 leTnsa 1
q D 12 |KC42A-03-3A Kosepek 1
A 13 anba 1
M 10 14 |KC42A-03-4 PemeTka 3alMTHAS 1
@ 15 Manba 1
\ @ 16 Konnauex 2
@
©
3
@
@O
e MonmeJsib
CHeroy6o0 K OeHBMHOBRM
ybopint ST9071LE
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 9




